Ptiloha €. 2: Retencni objemy vsakovacich zafizeni (zdroj: autor).

Pl P2 P3 P4-6 P7 P8 P9-10 P11 P12 P13 P14-15
Ared[m?] 345 386,3 2115 881,3 262,5 262,5 567 303,8 136,5 248,3 531
Avsak[m?] 34,5 38,6 21,2 88,1 26,3 26,3 56,7 30,4 13,7 24,8 53,1
Avz[m?] 34,5 38,6 21,2 88,1 26,3 26,3 56,7 30,4 13,7 24,8 53,1
t. [min] hg[mm] reten¢ni objem vsakovaciho zaiizeni V,, [mS]
5 13,1 4,20 4,70 2,57 10,72 3,19 3,19 6,89 3,69 1,66 3,02 6,46
10 19,5 5,85 6,55 3,58 14,94 4,45 4,45 9,61 5,15 2,31 4,21 9,00
15 23,2 6,48 7,25 3,97 16,54 4,92 4,92 10,64 5,70 2,56 4,66 9,97
30 28,1 6,01 6,73 3,68 15,35 4,56 4,56 9,87 5,29 2,37 4,33 9,24
40 30,2 5,25 5,88 3,21 13,42 3,99 3,99 8,63 4,62 2,07 3,78 8,08
60 33,1 3,25 3,64 1,98 8,30 2,46 2,46 5,34 2,85 1,27 2,34 5,00
120 37,9 -4,25 -4,74 -2,63 -10,83 -3,26 -3,26 -6,98 -3,75 -1,71 -3,04 -6,54
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